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Y91 T I 40 sl G 37ferek a1 forar s 9nfau |

(v)  TUE T T GEIT 25 € 29 TT-IHI TR & T & | T T 3 371 1 8 | 57 To1 &0
I 60 I75e] § 3ferah a1 forar Si=7 =7fay |

(vi) TUSH— Y99 &I 30 8 33 T -ITIT YR & T3 & | e I3 5 371 &1 8 | 39 J941 1
ST 120 1531 @ 3fere Ta for@n s =1feT |

(vii)) TUE & — Y37 G&IT 34 @ 36 FT/Fa-34Ra I97 8 o7 a7 39-397 8 | 3% I3
4 FB TR

(viii) TUE o — Y99 G&IT 37 HHH FITA-3MERT I3 8, a8 gt 91 & — 37 () 3fasr@
(2 ¥%) 3R 37 (@) TN (3 %) | 39 T % F1 5 AF 6 |

(ix) 3% STafch, 1 3 for gi¥anfera whianfefai & forg fom aor aAfaa s1fa smenfta Jo1 &
TYTT X Teh 37T J¥ 1521 7271 B | 37 9991 & IR baeT givaniera giemef & ford |

@&
[CREETE IR L) (20x1=20)
1. “forea AHa forepTe Gerehish” | weiferd HwfoTad dfcrent o1 STearam ShifSig 31K 38eh
T fou e 97 1 ST ST 1
' foga 4 a9 fahra
#.4. 3w , .
GeThlh T hH
1 d 130
9. | wMR 148
3. | Aua 149
4. | ofeReaE 150
frfafiad & & S-81 a9 wHa o g 7 1 T w@ar g 2
(A) 9”4 (B) HIER
(C) 9t (D) dIfREa™
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General Instructions :
Read the following instructions carefully and follow them :

(1) This question paper contains 37 questions. All questions are compulsory.
(it)  Question paper is divided into six sections — Section A, B, C, D, E
and F.

(iit) Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

(v)  Section C - Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

(vi) Section D - Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

(vii) Section E — Questions no. 34 to 36 are Case/Source-based questions with three
sub-questions. Each question carries 4 marks.

(viit) Section F - Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

(ix) In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates

only.
SECTION A
(Multiple Choice Questions) (20x1=20)
1. Study the following table related to ‘World Human Development Index’
and answer the question that follow : 1
S. No. Country HDI Rank in the World
1. India 130
2. Myanmar 148
3. Nepal 149
4, Pakistan 150

Which one of the following countries has the lowest rank in ‘Human
Development Index’ ?

(A) India (B) Myanmar
(C) Nepal (D) Pakistan
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2. Eﬁﬁmﬁﬁaﬁﬁﬁwgﬁ%ﬁ?ﬁaﬁrwaﬁﬁq:
MEEIRCEC] T
(A) T & (IR ~  feEm
(B)  WERISZATel MAfdesh aidf  — T
(C) 3 g4 wem —  FE e
(D) 37t fea wieae seifeh  — ST

3.  TAfafad @ & shiF-81 37 Sidies faforear 1 e § wd g Ui 37 U5 SR
o o1 T hT o[ SaTRT S ohT Ueh IS8T & 2

(A)  HIH ST STARH (B)  affegfera
(C)  ifcsrH (D) fagstcls

X

4.  Tfafed ¥ & fre dre = e suea § 8 ?
(A)  GIH TS |
(B) i &
(C)  Te-FRuE siEeH
(D) <feor af¥mes et g deT

5. WY IH &Y I 9 e Hfe 1 w2t faerea o1 === Fifse

@y I N @y I1
(@I STt GI7) ATST)

a T i deEr

b.  TEWEH ii.  affem

c.  yEEd iil. ST TR
[ESEEIE iv. HERE

faeea :

(A)  a-ii, b, c-iv, d-iii
(B)  aiii, b-iv, c-i, d-ii
(C)  a-iv, b-iii, c-ii, d-i
(D) a-ii, b, c-iii, d-iv
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2. Choose the correctly matched pair from the following : 1
Political Party State

(A) Janata Dal (Secular) —  Bihar
(B) Maharashtrawadi Gomantak Party —  Goa
(C)  Dravida Munnetra Kazhagam —  Andhra Pradesh
(D)  All India Forward Bloc —  Punjab

3. Which of the following countries is an example of sharing of power
between the national and state governments to account for internal
diversity ? 1
(A)  United States of America (B) Australia
(C) Belgium (D)  Switzerland

4. Which one of the following organisations has its headquarter in
Brussels ? 1

(A)  United Nations Organisation
(B)  European Union
(C) Non-Alignment Movement

(D)  South Asian Association for Regional Co-operation

5. Match Column I with Column II and choose the correct option : 1
Column I Column I1
(Thermal Power Plant) (State)
a. Talcher i.  Telangana
b. Ramagundam ii. Odisha
c. Bhusawal iii. Andhra Pradesh
d. Vijayawada iv. Maharashtra

Options :

(A)  a-ii, b, c-iv, d-iii
(B)  a-iii, b-iv, c-i, d-ii
(C)  a-iv, b-iii, c-ii, d-i
(D)  a-ii, b-i, c-iii, d-iv
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6. ey feuu E | A sAfirered (A) 3T HROT (R) & | ST AT ! ufeu 31T gat
Torere w1 = HifSTT

fUFIT (A) : W | G TSI o Icq1e shi 3TEiH GHIeHTE & |

RO (R): ¥ T SARHIR Y-ATT I et o FHawid AT e |
Tarepea

(A (A) 3R (R) 3H @& & 31 (R), (A) I ¥& AT R |

(B) (A) ¥R (R) 3HI @&l &, W (R), (A) 3 H&l =1 787 ¢ |
(C) (A wEre, = (R) Teid € |

(D) (A T8, T (R) W& 2 |

7. T U B REE ] | ST HU A @l AT et @ | fRe g shr imiferss
TG 9 ToTT, ST Tatll 2 T ST [orehed T = ShiTST |
(A) s e, Heaw o, e araa it Raett gu
(B) it aT, Boeh! adl, 3= qroH SR faeft gu
(C) U WRT, Beoh! N, I ATOHM SR T o
(D) it aT, ARk i, e Ao ST e e

8.  HER WU d1d g THE &9 § ATITard AT 3 He forehed i =1 shifory |

(A) TSR, TSAT, GSITel AT SRATOTT

(B) HEWISZ, He v, TSI QT USTE
(C) HENISE, HET YT, AT qT T8 T

(D)  HET YT, TS, Fhiceh qT SAIATG
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6. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements and choose the correct option : 1
Assertion (A) : India has enormous possibilities of production of solar
energy.
Reason (R) : Most of the land area of India falls under the cold zone.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)1is true, but (R) is false.

(D) (A)is false, but (R) is true.

7. Swapna is a small farmer. Swapna wants to cultivate cotton. What kind
of geographical conditions will be suitable for this ? Choose the most
appropriate option. 1

(A) Laterite soil, Moderate rainfall, Low temperature and Bright
sunshine

(B)  Black soil, Light rainfall, High temperature and Bright sunshine

(C) Laterite soil, Light rainfall, High temperature and Moderate
sunshine

(D)  Black soil, High rainfall, Low temperature and Moderate sunshine

8. Choose the correct option of the states that have been majorly benefitted
by the Sardar Sarovar Dam. 1

(A) Rajasthan, Gujarat, Punjab and Haryana
(B) Maharashtra, Madhya Pradesh, Gujarat and Rajasthan
(C) Maharashtra, Madhya Pradesh, Telangana and Andhra Pradesh

(D) Madhya Pradesh, Rajasthan, Karnataka and Chhattisgarh
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a. Ird i, O

b. Tl ii.  Yr@sT 97

c. <A iii. el ETR

d. waqs iv. feslt

%IT:h_c'lT:

(A)  a-ii, b-iii, c-i, d-iv
(B)  a-ii, b-iii, c-iv, d-i
(C)  a-iii, b-iv, c-i, d-ii

(D) adiii, b-iv, c-ii, d-i

10. fafefea ydia s=sha @) aftfem i fokvaret 8 @ F-d ot € 2 oo
S forhed 3T <=1 shifsg |
Tergroamd ;
I  IF-Sfdl & 9 & fIg e & |
II. e S st e SeRTd e |
III.  Eeheared STl & srard o fore frerr . wfster @ |
IV. 99 Ud Ssiie S Hewqul forat st |er =it | 20iHet T |
IECIG K
(A) wHaa I, IT 3R III Tet § |
(B) FHaorl, Il IV T T |
(C) et II, III 3T IV &t & |
(D) haet I, 111 3R IV @&t § |
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9. Match Column I with Column II and choose the correct option : 1
Column I Column I1
(River) (Dam)
a. Chambal i.  Salal
b. Ganga ii. Bhakra Nangal
c. Chenab iii. Gandhi Sagar
d. Satlyj iv. Tehri

Options :

(A)  a-ii, b-iii, c-i, d-iv
(B)  a-ii, b-iii, c-iv, d-i
(C)  a-iii, b-iv, c-i, d-ii

(D) a-iii, b-iv, c-ii, d-i

10. Which of the following characteristics of the Indian Wild Life (Protection)

Act are correct ? Choose the most appropriate option. 1
Characteristics :

I. To make provisions for habitat for wild animals.

II. To publish list of protected species.

III.  To ban hunting to save endangered species.

IV. To include important subjects like forests and wildlife in the Union
List.

Options:

(A)  Only I, II and III are correct.
(B)  Only I, II and IV are correct.
(C)  Only II, IIT and IV are correct.

(D)  Only I, IIT and IV are correct.
I 32/2/3 Page 9 of 27 P.T.O. I
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11.  Fefafea o 8 w& gafa 3 =1 == HifT
T SE/aTe s 7T
(A) Hiee THT 3TN - Teuma
(B) WYIREULTIE - (SN
(C) Uit smer fostel —  dfeg
(D) =W o fed -

12. AT H Toaft S Fmfaiaa forivarstl i emyae qieT K §e fahed 1 =2
shifsre
ferorgamd
L. € IR shT Herdl GO HIS[eT i qEdehl § 4T © |
I 6 SHTS 9¥ ol J&T W=l &l 9U ¢ |
III. 391 GO TS WiW ol T9He ATgsid o Iuehod 2 |
IV. 382001 ¥ IFh! HART 3T T ace Aoeet 7 3fora fopar mm )|
forerea
(A)  Had I, II 3 111 9=t € |
(B)  3aat II, III 3K IV TEt & |
(C) Faa L, III IV T & |
(D) Fad L, II IV Tl g |

13. Gicied Ual & T H oo SEl STt HEferiad § § forees g sTferr ug 2
(A) T 8w (B)  hiEHT ST
(C) et Afereh (D) US Weh

14. TrfaRad gerstt &1 FIaswaar et Hiisg 3 g8t faered 1 == Hif ;
L. ATSfecET i TS § FNAIT il BR
IL. A S o forg e o
III. Yo GO STcToIg shi TATOHT
Iv. fouan afer weener

frepea

A LILIOLIV (B) LILIV,II

(©) ILLILIV (D) ILIIV,III
15. 3] AT i Haiel Fwferiiad o & fopm qor @ o 2

A) Iwfe (B) TS

(C) Toicie (D) whieds
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11. Choose the correctly matched pair from the following : 1
National Park/Tiger Reserve State
(A)  Corbett National Park —  Himachal Pradesh
(B) Bandhavgarh National Park -  Rajasthan
(C)  Periyar Tiger Reserve — Tamil Nadu
(D) Manas Tiger Reserve —  Assam

12. Read the following characteristics of ‘Jikji’ of Korea carefully and choose
the correct option : 1
Characteristics :
I. It is one of the oldest existing printed books in the world.
II It contains the main beliefs of Christianity.
III  Its second volume is available in the National Library of France.

IV. It was inscribed on the UNESCO Memory of the World Register in
2001.

Options :

(A)  Only I, II and III are correct.

(B)  Only II, IIT and IV are correct.

(C)  Only I, III and IV are correct.

(D)  Only I, IT and IV are correct.

13. In the mid-16th century, diseases like smallpox reached America through

which of the following ? 1
(A)  Spanish soldiers (B)  French merchants
(C)  Portuguese sailors (D)  British tourists

14. Arrange the following events in chronological order and choose the
correct option : 1

I Defeat of Napoleon in the battle of Leipzig

II1. Beginning of struggle for Greek independence
III. Formation of customs union Zollverein

IV.  Signing of Treaty of Vienna

Options :

A LILII IV (B) LILIV,III
©C) ILLIIIV (D) IL LIV, III
15. ‘Potato famine’ was related to which of the following countries ? 1
(A) England (B) Ireland
(C)  Finland (D) Scotland
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16. = ar e I ud 11 few Q& | ST ol sht Sgaeh ufet ST wel forered st =R
FHifse
FIT[: GO TS HR S iehy 3§ Seeiehtor i Sfshar shi Scifid fora |
YT I1 :  HhT SHANT Ueh-THL H Heh shid, GET3TT bl deshed Ted shid AT grerdt
&5 § FaTe S B S ST ® |

forReu

(A) % I AR I ST Hel & S hY 11, e 1 1 @t e e |

(B) % I 3R II GHT 6T &, T o 11, o [ o1 9el e 787 € |
(C) T IHEe, g T I el & |

(D) o 71T &, T e 1T Wel € |

17.  9Rd 8 JrHI0T 9iEm o fTg Sor st Atevarehar qid & fore skor & Fefarfiad @t st
AT U T o shY H ST hITSTT T Hel faehed ohi <= Shifsiu ;

. &K II. GEsrl s 3T afufaat
III. HEHR V. federwd fie
forepeu ;

(A) LI LIV (B) IILILIV,I
(C) I IILIL IV (D) I, IIL IV, II

18. T I 39 & o1 7iiek Ud foram B | I @ UdT =T foh T AT -3TAT i Rk
SO STTSTIRT T & | T8 1T U@t 3 ST dqTfetehT SFTs 3okl == fe=m mm 2 |
TTCTohT ST EATHEIoh STEA ShITSTY TR 3k A1 T 7T T o7 I ST :

F.4. I TR EC
1. |31 ©d | T L aTct 9 250
2. |forermea ¥ uer aret freres 10
3. | U HTH HTH HH A T 70
4. |gSHIEHEl Y FE F 9 Afeh 140
5. |8 % Teh STEUAT H 1 i Tt U<y 60
Ex 530
TS &57eh | fohd = 1T Shritd @ 2
(A) 380 (B) 140 (C) 320 (D) 210
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16. Two statements I and II are given below. Read both the statements
carefully and choose the correct option : 1
Statement I:  Information and communication technology stimulate

the process of globalisation.
Statement I : 1t is used to contact each other, receive information
instantly and communicate with remote areas.
Options:
(A) Both statements I and II are correct and statement II is the correct
explanation of statement I.
(B) Both statements I and II are correct, but statement II is not the
correct explanation of statement I.
(C) Statement I is correct, but statement II is incorrect.
(D) Statement I is incorrect, but statement II is correct.

17. Arrange the following sources of credit in the most to least order to meet
the credit requirement of rural households in India and choose the

correct option : 1
I. Government II. Cooperative Banks and Societies

III. Moneylenders IV. Relatives and friends

Options:

A ILILI IV (B) ILIIV,I

©) LILII, 1V (D) LI IV, II

18. Rakhi has done an economic survey of her area. The survey has revealed
that people earn their livelihood by doing different jobs. The table
prepared by Rakhi for this is given below. Study the table carefully and
answer the question that follows :

S. No. Work No. of People
1. |Farmer working in his fields 250
2. |Teachers teaching in school 10
3. |Handloom weaver working in his/her house 70
4. |Workers working in big factories 140
5. |Employees working at a hospital in the area 60
Total 530
How many people are working in the organised sector ? 1
(A) 380 (B) 140 (C) 320 (D) 210
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19. feuwwu fom o 2fgu ot gk Hi= fou o 9 shr S e

o O forarm ST Tt ohrel Sreferareen o fohe &5/eh oh JdTld AT & 2
(A)  ITuHE (B) =qde

o

(C) qdteh (D) feitaes

TIe :  HIRET I97 e giteartar aierTierat & fo7q 97 681 19 & € W2 |
frefefad & & hH-a1 Hl STferaee 3 qefiaeh &rmeh o ST T & 2
(A) Rl T (B) Uy

(C)  gu S (D) TS T

20. T T o1 Ui % forg wiet forenew o1 <t hifere
foreft aeT o 37aT fopelt Ay fomiw 7 Scorfed |t sifcw awqatl il darstl &1 Fa I
FEATT & |
(A) a3 s
(B) i e Ieare
(C) Gohat T 3
(D) e BT 3cdTeH
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The work being done in the picture falls under which sector of the

economy ? 1
(A)  Primary (B)  Quaternary
(C) Tertiary (D)  Secondary

Note : The following question is for the Visually Impaired Candidates only
in lieu of Q.N. 19.

Which of the following activities comes under the tertiary sector of the

economy ? 1
(A) Basket weaving (B)  Animal husbandry
(C) Milk vending (D)  Gur making

20. Choose the correct option to fill in the blank : 1

The total value of all final goods and services produced within a country
in a particular year is called

(A)  Per Capita Income

(B)  Per Capita Production

(C)  Gross National Income

(D)  Gross Domestic Production
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24.

25.

26.

#
Lus ™
(3Ffer g -Iwa ) (4x2=8)
(F) R H Il Hel % I qoh ATA-3ATd 3iqeTe shl (AT fohdt T Tegarra
T TEHT UGT St T TTEH & T3 2 SATEAT HIfSIT | 2
3TAdT
(@) ORd & T e d fagh 3R geitent 3 fha Yo T & Trsgane shY SraT
U1 S H ATEH fea ¢ = Hifs | 2
V- ffieRtoT i FeeTat o qETaT o foTe s a1 3T gETsy | 2
R T GITE e & TR W fohu ST aret forelt g o WewTd st eraenfeiss =nfa
FATE | 3 doh ¢ 39 HUF ! ATIHIT 38UST | 2
3T o Sfier e Taier 37 ofieT WehTehaom sht Ufsharm & Aveiehtor € |7 SeTel |ied 39
Y h! SHTEAT T | 2
Qus T
(Tg-3wra 9) (5x3=15)
“HloRT ST SAfare” H foheT wHerEt ot Hfieht shT forgetwor Hife | 3
T st e ol ufew 37K 3Heh et 3w Te o w1 I iR
LEIETETIE
T aram 1 o o et & o 370 URE o @1 U 7M1 & L&l & | 98 30 qar
IR G T {7 % Zohs T 37T IEITd T HICHT I STATHL AT Fld QTR <
T IV FAT & | T8 TR TRER 3 FERAT o AT T o6 A1l G T 8 T AR
Y Ed ol THTIT H H TETAAT LA & | T8 9 TRET § TE W@l & R 9 qoh
T B T T TS 7, W] 39 DI ddt ol 319 W H et o wredt 3w & an
H % Wt uaT el 8 foreeh Hor 3wk UTER sl 1Tt 9 U SH % e shl TaTT LAl
il
e =t 18 o Surr s, Fore® 3wk @ &t firgh o 3ear oo we a o ) | 3
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23.

24.

25.

26.

SECTION B

(Very Short Answer Type Questions) (4x2=8)

(a) How did reinterpretation of history become a means of creating a
sense of nationalism by the end of the 19th century in India ?
Explain.

OR

(b) How did symbols and icons contribute to create a feeling of
nationalism among the people in the national movement of India ?
Explain.

Suggest any two measures to solve the problems of land degradation.

“The Constitution of India prohibits discrimination on grounds of
religion.” Justify the statement by giving two arguments.

“Globalisation is the process of rapid integration and interconnection
between countries.” Explain the statement with examples.

SECTION C

(Short Answer Type Questions) (5x3=15)

Analyse the role of peasant communities in the ‘Civil Disobedience

Movement’.

Read the story of Rinjha and answer the question that follows :

Story of Rinjha

Rinjha lived with her family in a small village at the outskirts of Diphu
in Assam. She enjoys watching her family members clearing, slashing
and burning a patch of land for cultivation. She often helps them in
irrigating the fields with water running through a bamboo canal from the
nearby spring. She loves the surroundings and wants to stay here as long
as she can, but this little girl has no idea about the declining fertility of
the soil and her family’s search for a fresh patch of land in the next
season.

Suggest any three measures to Rinjha so that the fertility of the soil of
her fields remains intact for a long time.
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27.

28.

29.

30.

31.

32.

33.

#
ATehd™ hl TheTdT oh foTT & <t ErEierY It STTawaeh & 2 SUTEAT Shifslu | 3
()  TSHITde gl o I T Sl 1 a0 shifsg | 3
3YAT
(@) R o Sk gt o wHeT i 9@ a1 ol Hifse | 3
FHA BT I F TG H AT AT & 8T | &I @ TN T forgero
HIT | 3
LCLERY )
(@30T TI) (4x5=20)
(%) 1830 T 3T [ohH TehIT AT & WY FHISHTEAT Ieht AT AT 2 SATEAT HiTSIT | 5
araT
@) Seet Tt % qaie § FHHETE 3 309 7 e Tehr Tngang & fohe § ane
e 2 =meE fifsw | 5
(F) SN fhH TR A1 TGO I GTd & ? AT TEI0 i hH HTA o o I3 i
BRIRESEIEN 243=5
3HYAT
(@) SN fohe T AT SEU0T 2l SgTd & ? AT TG0 ohl ok Shid oh foIq ahlg i
U AT | 2+3=5
(F) AR [ TR 317 IO STaAT3T & o8 & 2 faveiwor i | 5
HYAT
(@)  STEHAT TR IR T HH B H AR bl YHERT T faeeisor Hifg | 5
(F) U Th T TR FA F AT FoFT TR T Weaqyl e & 2 faed S
g fopw T afieRtor o6t Seaid@ FIfST | 2+43=5
HYAT
(@) WRd % g AT H T STt o SAfesh ST A fohd Tohr TR Hehe 30
T e B 2 amofie faemme & deyt o SeTeun afed s it | 2+3=5
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27. Why is power sharing essential for the success of democracy ? Explain. 3
28. (a) Describe three main functions of political parties. 3

OR
(b)  Describe three major challenges faced by the political parties in
India. 3
29. Analyse the changes taking place in the sectors of the Indian economy in
context of ‘Gross Domestic Product’. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
30. (a) How did the decade of the 1830s bring great difficulties to Europe ?
Explain. 5
OR
(b) How did Romanticism contribute to the development of
nationalism in Europe in the early 19th century ? Explain. 5
31. (a) How do industries increase air pollution ? Suggest any three
measures to reduce air pollution. 243=5
OR
(b)  How do industries increase thermal pollution ? Suggest any three
measures to reduce thermal pollution. 2+43=5
32. (a) How is democracy better than other types of government ?
Analyse. 5
OR
(b)  Analyse the role of democracy in reducing inequality and poverty. 5
33. (a) How isincome an important factor in assessing the development of
a country ? Mention the classification done by the World Bank. 2+3=5
OR
(b)  How has the overuse of underground water created a serious crisis
in many parts of India ? Explain with examples in the context of
sustainable development. 243=5
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34.

35.

Qus e

(R /ETA-ATLTA T9) (3x4=12)

fou T w1 ufeu K 3o e fiiw e gvet % s i
ara | ferehgientor

forehsliaRtor shY STeea A Hfoa # off wiehr i € | 8ok o1g | T T e H
TR T T oh Toroha T hi g ShITITRI 8% & | AT Al & 71 o & 98 I gemrat
3T IRY § TRATIARTSTT bl Tt hl 778 off | W 378 TS Uieh i o e fa=izror & @
TR T | 59 ST ST o foTu i & & =mer ot T8 e ST & | e g A
AT IS ATIHR 9T T TATE | T ThR TTaT ST A T HT fFehsiiehtor 919 JT T
gAT T |

ST Toeh Terehg [ohuT <hT Ta3T § Ueh ST shed 1992 H ISTAT TRIT | Giae ¥ g3ed
ok AlhdiIeh ITH STET o 59 T8 TaT bl SHATQT ITFAIAT ST THTST SIH=IT 74T |
(34.1) T wferer & g o1 fshsientor foraa &t o fepam w2 2
(34.2) WHEATS! & GHTHT H TATRY TI-RMTE sht R bl T HITST |

(34.3) “TIYTT FLHT shT TATIAT TI-ITET o AThd ik TSI sl Aok S+ T
o T3 qUhT & | 39 hU shl SATEAT IS |

fow u g o ufew 3t 3ees = fow T gt & sae i

AT <R hETHT
TRV U ohAT ASTEL % I T IR0 T € | TR0 o UTH 7 Thg S € | 30T
HHTL o 37 %o A | ¥ &, F8 et o fore e @ oo e @ | 58 e W anfvies st
T 8-5 Ufdwrd & 31 38 37Ted i It | shef) off SASTET ST HehT @ | 37007 shl ASHT &
foF o EeT AT B TR ST 3UST T o TG sIereht 390 3R0T 3h1 STQTEHT E o1l | 98
STl 3] ol FHS 1 I WeR T8 H T@eL ik ¥ g6 et FT W o % foIg
HTAEGH T =ATEAT & | sieh 37 fopamt sht et gforam o7 3 foTq I & it et & Wt o
[SREECEICEEERS
(85.1) 3TRUT T kT forl G o SAdqIld AT R 2
(35.2) S § 0T i 6T Toh THE I T Iecid hITT |

(35.3)  3TRUT T SRUT foh® TehTT ATHERIT & 2 Tl &t ShTTumt shl st hifsiw |
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SECTION E
(Case/Source-Based Questions) (3x4=12)

34. Read the given source and answer the questions that follow :
Decentralisation in India

The need for decentralisation was recognised in our Constitution.
Since then, there have been several attempts to decentralise power to the
level of villages and towns. Panchayats in villages and municipalities in
urban areas were set up in all the States. But these were directly under
the control of state governments. Elections to these local governments
were not held regularly. Local governments did not have any powers or
resources of their own. Thus, there was very little decentralisation in
effective terms.

A major step towards decentralisation was taken in 1992. The
Constitution was amended to make the third-tier of democracy more
powerful and effective.

(34.1) At how many levels has decentralisation of power been done in
the Indian Constitution ? 1

(34.2) Explain the role of local self-government in solving problems.

(34.3) “Local government is the best way to realise one important
principle of democracy, namely local self-government.” Explain
the statement. 2

35. Read the given source and answer the questions that follow :
Arun’s Story

Arun supervises the work of one farm labourer. Arun has seven acres of
land. He is one of the few persons in Sonpur to receive bank loan for
cultivation. The interest rate on the loan is 8-5 per cent per annum, and
can be repaid anytime in the next three years. Arun plans to repay the
loan after harvest by selling a part of the crop. He then intends to store
the rest of the potatoes in a cold storage and apply for a fresh loan from
the bank against the cold storage receipt. The bank offers this facility to
farmers who have taken crop loan from them.

(35.1) Under which source does Arun’s loan come ? 1

(35.2)  Mention one important term of credit for taking a loan from the
bank. 1

(35.3)  How is Arun’s loan beneficial ? Explain any two reasons. 2
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36. feu T i ufey 31t 36 = fa g e o S e

%% STETERR] T AT & foh TR0 SEBh 7 e shifd o g et aftfurfaat
e |

TH el 7 HeI: F© qoh <@ A ¢ |

TEAT : BUTE o cTd JAIGT o <Idehi oh [oaRT T SHR GIAT | 37k G o el THeTreht
T, Sferforrare 37T fpRreTe ST Ue Sl | I Afa-farsit st e
o e T o o, 3T AT 6 fo 22 <t ol o o7 forden ot sheidt ot & e S |
I = T Gfiieh 3 TS T FRERT 0T T IER s WOl W AT |rierh
ST 1 Goied T T | FedaT AT T o TG T A0 TISh-aT o, 3 FTeh
TG Ueh U, SATeleMTcHeh, HTierT ST dTfeheh TSI § g1 <@ & o |

T : BUTS A SATe-foralTe-Hare ol Toft Tepfer bl =7 feim | T g He, weemat 3
WHES! WS ST o sitel foram-fomet g3 #R 37k YHcid o faria &
TAT | Toh shl ATehd & TNISIT a8 Tt Ufocieh” o 3T SATEAT h1 TATTRA HLA HT HIA
A et off | 59 T8 St "SIk AT @ wHiiSien shifd % A forml s e

o

g |

(36.1) T o fident & foreml o1 SIS O RIT T4Te 9T 2
(36.2) SHIE H HEOT HEHcr = & i foher Tohr srwTferet ot 2

(36.3) HEUT HEHIA A H1¥ # foher TohR AHTISTR Shifd # ARTE fo=rm 2
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36. Read the given source and answer the questions that follow :
Print Culture and the French Revolution

Many historians have argued that print culture created the conditions

within which French Revolution occurred.
Some arguments have been usually put forward in this context.

First : print popularised the ideas of the Enlightenment thinkers.
Collectively, their writings provided a critical commentary on tradition,
superstition and despotism. They argued for the rule of reason rather than
custom, and demanded that everything be judged through the application
of reason and rationality. They attacked the sacred authority of the
Church and the despotic power of the state, thus eroding the legitimacy of
a social order based on tradition. The writings of Voltaire and Rousseau
were read widely; and those who read these books saw the world through

new eyes, eyes that were questioning, critical and rational.

Second : print created a new culture of dialogue and debate. All values,
norms and institutions were re-evaluated and discussed by a public that
had become aware of the power of reason, and recognised the need to

question existing ideas and beliefs. Within this public culture, new ideas

of social revolution came into being.

(36.1) What impact did the ideas of Enlightenment thinkers have on

society ? 1
(36.2) How did print culture affect religion in France ? 1

(36.3) How did print culture contribute to the social revolution in France ? 2
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(AT ShI9TeA-SATATRA o) (2+3=5)

87. () RA % G TSHfeh WEr-AHE (T53 27 W), § &1 T @ A’ 3TRCB’ %
&Y | 3ifehd foram T B | FFmfafad St S erdar 9 39eh ug=e hifsg
3 7ok Tt A grfig T 78 Warett w fafaw 2x1=2

A, TR SE fGHreR 1927 § TRATT TS il h S g o7 |

B. 9% T Sl STt ST 3 =T =fed g3 of |

e : Frferfaa yv7 Faet gisarfera udterfefa & forg yv7 @ 37 () F I WE |
@ () 39 A &AW fafae sEr fearew 1927 8, yrdiT a6
AT g T |
(i) 39 1 TW fafgy st Sfoataren s s ateags oft | 2x1=2

(@) WA o gt Tk Tt 8, fefiaa & & feet ot o soae fost
TS 3R 37k 1 feffae - 3x1=3
() Y- TR o et 2 T
(i) Rl cqred | TR U5
(i) ST TeH feord qwaTy S wRAA
(v)  3fifeem ¥ feed yqe as oo

e : FHHIIREd 397 Facl grEaTiard aqerTierat & fo7q 97 98T 37 (@) & A R E |

@) ol a7 aet & s s 3x1=3
(1)  YE-uReEw e % qE A T3 1 AW ey |
(i) T ScaTed H ST TS T T fAra |
(i) 3 T o1 A fARaT et It qawr H o) st S e |
(iv) 39 T o7 9 g STt Sffeem 4 s qys o Lo 2 |
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SECTION F
(Map Skill-Based Questions) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them : 2x1=2

A. The place where the session of Indian National Congress
was held in December 1927.

B. The place where Jallianwala Bagh incident took place.

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 37 (a).

(a) (1) Name the place where the session of Indian National
Congress was held in December 1927.

(i1) Name the place where Jallianwala Bagh incident took
place. 2x1=2

(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3

(1) Eastern terminal station of the East-West Corridor
(i1))  Leading state in coffee production
(iii)) Nuclear power plant located in Uttar Pradesh
(iv) Major sea port located in Odisha
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of @. No. 37 (b).
(b) Attempt any three questions. 3x1=3

(1) Name the eastern terminal station of the East-West
Corridor.

(i1)  Name the leading state in coffee production.

(iii) Name the place where nuclear power plant is located in
Uttar Pradesh.

(iv) Name the place where a major sea port is located in Odisha.
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